track x?

berset

0924 6 8 10 12 14 16 18 20

[S]

N of associated (recoToSim) looper tracks vs normalized X

3 >
syoesy ayealdnp oney soesy ayeaydnp Oney

0

2l

16 18
track x2

10 12 14

8

6

)
o

syoen ey

0

2

16 18
track x2

8 10 12 14

tracks vs normalized x? |

)

T 6

recoToSim)

[{

2

e
o

syjoen dhn

O.D

retrainOldFiles125 _v2_prelimWPM_epochO

[N o associated

[
7}
I}
lo
=]
o
m}
>
c

track x2

CKF_XiMinusPU

DQM

ized x?
10 12 14 16 18 20

al

m

r
8

no

6

4

Juvn _F.: L L
]
9 i S

oned

)
o

syoen

2
N of reco track vs.

[N of reco track vs



	Contents
	Page 1


